


Atlings Maskinfabrik AB was founded in
1947. It’s an independent company in the
Group Inducore. The company’s success is
based on it’s technical excellence, world-
class manufacturing and collaboration
with qualified distributors world wide.

Atlings have been producing Steady Rests
since 1976. Thanks to Atlings modern ma-
chine park we are able to manufacture all
the parts for the Atling Steady Rest with
high quality and precision. The dedicated
market for the companies product are
automotive, aerospace, railways, energy
and industrial markets.

The close cooperation between our
engineers and the costumer, creates a
quick response to our distributor, and is
the key to find the best possible solution.
That is a special strength that Atlings is
proud of.

Over the years, Atlings have made a wide
range of special designs to fulfill their
customers’ needs and desires.

The Atling products are engineered and
manufactured in Sweden and sold by a world
wide sales and marketing organization.

PART OF (‘[. inducore

Atlings is part of the Swedish industrial group Inducore, active in the area of truck bodies,
systems solutions, and component manufacturing.



Atling size (AX4l-AXT1l) comparison

competitors.
. D ettt )
|
|
|
N | N
Ve .{‘ ;wv. ' O o
> . .
°

~ O

Gripping Range AX-series (mm)

Model Axi | Ax2 | Axa | Axa | axs | axe | ax7 | axs | axas5| Axs7 | axe | axw | axn
Gripping range | 670 | 8105 | 12125 | 12160 | 20-200 | 30-255 | 45-320 | 85360 | 100-430 | 140-470 | 100510 | 250-680 | 450-870

page 6 '
Gripping Range S-series (mm) Gripping Range N-series (mm)
Model Ase | as7 | A8 Model ANT | an2 | anz | Ans
Gripping range | 30-255 | 45-320 | 85360 | Gripping range | 670 | 8-105 | 12-125 | 12-160 |
page 19 page 22
Oy A A A A
AX/AS/AN: Model serie. (AS only 6, 7 and 8) ‘
Model Size: 1 - 11 (according to list)
Cylinder type: E = External Cylinder
I =Internal Cylinder

Swing Away: N = No swing away
U = Swing away Upper arm
L =Swing away Lower arm
B = Swing away Both arms

Lubrication Type: A = Automatic
M = Manual
Lubricant: 0 =Oil
G = Grease
Roller type: S = Standard

C = Cambered







When you have long shaft turning

When you need to have the work piece centered

To give support at several positions

To extreme work piece length

To hold the work piece

For slim and heavy work piece

Tailor made Special Steady Rest

@ Swing away arm: Upper, lower or both

@ Keep the same gripping range
@ Flexibility to convert to swing away

@ Flexibility to convert the external to internal

@ Space reduce with the innovation AXI series

@ Slim fit design

AXI series, the next generation Steady Rest
To be able to have a slimmer and more
compact series Atling developed the new
AXI'model which is the latest innovation for
the Steady Rest. AXI =internal cylinder give
Atling more opportunities to fit when the space
is limited and still need a big clamping size.

Swing Away Arm comes in AX and AXi series
Innovation for the swing away arm is com-

patible with all AX1-AX11 Series. You can de-
cide to have swing away on upper, lower or

both arms, and still keep the same gripping
range. Atling AX series Steady Rest can be
upgraded from AXE series to an AXI series
model, including a Swing Away arm. Atling
Steady Rests standard models come from AX1E
to AXT1E and from AX4l to AXT1l.

The overall usage

The Atling Steady Rest are used in many
different industry sectors such as the auto-
mobile, aerospace, rail, energy and general
industry.

TO OBTAIN GOOD CONCENTRICITY AND SURFACE FINISH THE STEADY REST FROM ATLINGS BECOMES NECESSARY.
THE ATLING STEADY REST ARE SUITABLE TO FIT INTO ANY CNC OR CONVERTIBLE LATHE IN THE MOST CRITICAL SPACE CONDITIONS.

5



o

Gripping range 6-70 mm

Total max gripping force 300 daN

Max peripheral roller speed 730 m/min
Centering accuracy* 0,02 mm
Repeatability 0,005 mm
Min operating pressure 10 bar

Max operating pressure 25 bar
Weight 8kg
Mounting holes** Same as SLU-1

ard AX Series

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.
Chedk drawings.

85 (Both = B)

5 (Upper = U)

75

:L)_

5 (Lower

60

30

This drawing shows swing away upper arm, and dimensions of configuration U, L and B

215

78

o ™
|8 ¢
f R e 1
Check valve
L 1
~
™~
1
Hydraulic open G1/4"
Hydraulic close G1/4"
Inductive sensor slots M8x1 (2x),
7 L\ '

p24 _

- 15 -
©
®
L]

© ©

=\ A\/‘/, -

"/ \
50

~
| o00O | | | <)
©f 1141
Coolant water in G1/8" (2x)




This drawing shows swing away upper arm, and dimensions of configuration U, L and B.

STANDARD AX SERIES

Gripping range

Total max gripping force
Max peripheral rollerspeed
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

8-105 mm
1200 daN

930 m/min
0.02 mm
0.005 mm

10 bar

60 bar

17kg

Same as SLU-2

i 301 o
L 200 e 101 A
— C 3
5 70 e 85 *
L] =
- ]
@
[=1
=1} 1
=2
NI
b e T
A
=
n
% = =)
@| — 2= &
=
Liig - 1
i % Check valve
:l 1
@
=
=]
= e 1
™ Inductive sensor slots M12x1 (2x)
w
_ @3 1665 . "
i L3
| (T |
! e
®
S e @lo
1 I = & o
| lo I e 1000 £
Hydraulic open G3/8"
Hydraulic close G3/8"
This drawing shows swing away upper arm, and dimensions of configuration U, L and B
" 344 -
L 231 g 113 _
L 77 e 102 =
5
1] ]
@
8 |
ol
=)
ml
| Check valve
[
[
= I
"
g ool W oo o
of oy N o & =
1] B Y —| o o
-+
ot
1
= -
I I
]
]
" oo
e o !
: \
3 el 1
w

70
i 137
_.19 -

“Inductive sensor slots M12x1 (2x)

Hydraulic open G3/8"
b 35 Hydraulic close G3/8" 155

. R e B e
P S E
H{ e = N L.
.° { B -E‘ [

1 (Y-
lo_| ) o

Gripping range

Total max gripping force
Max peripheral rollerspeed
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

12-125 mm
1200 daN
930 m/min
0.04 mm
0.005 mm
10 bar

60 bar
23kg

N/A

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.

Check drawings.



I STANDARD AX SERIES

Built-in pressure amplifier

Gripping range 12-160 mm
Total max gripping force 3500 daN

Max peripheral rollerspeed 805 m/min
Centering accuracy™ 0.04 mm
Repeatability 0.005 mm

Min operating pressure 20 bar

Max operating pressure 70 bar

Weight 45kg
Mounting holes** Same as SLU-3

Gripping range 12-160 mm
Total max gripping force 3500 daN

Max peripheral rollerspeed 805 m/min
Centering accuracy™ 0.04 mm
Repeatability 0.005 mm

Min operating pressure 10 bar

Max operating pressure 70 bar

Weight 45kg
Mounting holes** Same as SLU-3

188 (Both = B)

This drawing shows swing away upper arm, and dimensions of configuration U, L and B.

i 334 a4
L 290 a4 |

= L. 115 o 135 5
]
]
o
al
2
(=}

L]

3

o
[ 1R Te]
s ot

Hydraulic open G3/8"

{1 b |

i N “Hydraulic close G3/8"
._-J., b
" ™~
& L “Check valve
=
3’ 1
=

*At constant pressure and clamping force, 20 bar.
** Note: Same hole patter, can interfere on the bracket.
Check drawings.

LA
| T
: el RS
1 ]
2 4 8 ‘ 0O 2
| i ] @ - o
1 | “{5 © © |
“This drawing shows swing awayupper arm, and dimensions of configuration 1, 2 and 3
_ 428 _
290 . 138
L 115 . 135
=)
]
& ' ©o [
2 ! o O
= ®
= ) -
I 4 i }ﬁ_;_, ® Check valve,
- k‘_ T
m| - — v
il / 8 i
Slo g | vl 0
e ; 882
@ i _
-
O [ r
@
| \\ |
i “Inductive sensor slots|M12x1 (2x)
_Q_@ o
L7l !
45
Hydraulic open G3/8",
D47 _ Hydraulic close G3/8",
‘ ' [ o () — 1
T | 3 & :
5 B & O g 3
I e ® = o

. =6




This drawing shows swing away upper arm, and dimensions of configuration U, L and B

STANDARD AX SERIES I

Built-in pressure amplifier

Gripping range 20-200 mm
Total max gripping force 3500 daN

Max peripheral rollerspeed 890 m/min
Centering accuracy* 0.06 mm
Repeatability 0.005 mm

Min operating pressure 20 bar

Max operating pressure 70 bar

Weight 48kg

Mounting holes** Same as SLU-3.1

_ 368 .
=
i
©
o
[=3
=,
o
i
{
I
)
n
- [=1
=00
2 0™~
g_}_ o
-]
o
o™
Hydraulic open G3/8”
|
| Hydraulic close G3/8"
1 3
5 .
L , "Check valve
2
z R140
=
I‘.E
_ @52
‘ b 1T
| ' &] | {
| =]
g8 & [ (ED S
1 rip @ Sl |
1 ]— [
This drawing shows swing away upper arm, and dimensions of configuration U, L and B.
= 465 a
= L 314 jo 151 g
1 o 123 2 135
=
@
o
(=1
=} T
uwy
- I
—]
|
Check valve
= I
) & '
] (=]
e I -] =
£ z|S = VL8 2
3 & N —| | o
-] | §
o
o = |
e
1 i
1 w
i = |
=
I L. LI
= ! ; -
3 Inductive sensor slots M12x1
é” b
uwy

Hydraulic open G3/8"
752 Hydraulic close G3/8" 16

!
I
1
]

0 I

i t Ik ] ) |“ | '\/'r,Nl
g < @ HHS 513
I Tk ® || ||® u‘,'r

| e

Gripping range 20-200 mm
Total max gripping force 3500 daN

Max peripheral rollerspeed 890 m/min
Centering accuracy™ 0.06 mm
Repeatability 0.005 mm

Min operating pressure 10 bar

Max operating pressure 70 bar

Weight 48kg

Mounting holes** Same as SLU-3.1

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.
Check drawings.



B STANDARD AX SERIES I
g

This drawing shows swing away upper arm, and dimensions of configuration U, L and B.
. 434 _
= L 380 &
T T = 155 B
g |
=]
5| @) | T
3 x
M A
Built-in pressure amplifier I =
Gripping range 30-255 mm Py gre) i
w
Total max gripping force 4500 daN @) g?i
1 - el
i . S| B = T | @ w|o
Max peripheral roller speed 890 m/min a8 o 8 I 1888
o ' z - [\
Centering accuracy™ 0,04 mm = § 8] T
o I
1[N
Repeateability 0,005 mm . | “Hydraulic open G3/8"
' ' | [“Hydraulic close G3/8"
Min operating pressure 20 bar ! g -
kg Check valve
Max operating pressure 70 bar = !
) 5| R188
Weight 73kg g i
Mounting holes** N/A &
T = -
L P52 | | ® | . oo
=l T i I k & =
= 3 3‘ | I @ | O 5 @ e
1 &
1 | a | | -@ e
V.

\This drawing shows swing away upper arm, and dimensions of configuration U, L and B.
) - 563 -
= li 380 s 183 |
i 146 155
5 - 4 = - =
=1}
=1 i
2
= |
B |
i
Gripping range 30-255 mm Check valve
Total max gripping force 4500 daN @l !
. s} | oo
Max peripheral roller speed 890 m/min § ’g ap hed 7 b
Centering accuracy™ 0,04 mm g
Repeateability 0,005 mm
1
Min operating pressure 10 bar L
. = 1
Max operating pressure 70 bar "
[7] 1
R =
Weight 83kg 3
~ v/
Mounting holes** N/A i VInductive sensor slots M12x1 (2x)
Hydraulic open GB!&"\\
- ©52_ Hydraulic close G3/8", 1
; ! el Wt
1 :' u
28 Ql I @ o ok
*At constant pressure and clamping force, 20 bar. — B -9
** Note: Same hole patter, can interfere on the bracket. !
Check drawings.




This drawing shows swing away upper arm, and dimensions of configuration U, L and B

STANDARD AX SERIES I

Built-in pressure amplifier

Gripping range 45-320 mm
Total max gripping force 5500 daN
Max peripheral roller speed 655 m/min
Centering accuracy* 0,06 mm
Repeatability 0,005 mm
Min operating pressure 20 bar
Max operating pressure 70 bar
Weight 148 kg
Mounting holes** N/A

Gripping range 45-320 mm
Total max gripping force 5500 daN
Max peripheral roller speed 655 m/min
Centering accuracy™ 0,06 mm
Repeatability 0,005 mm
Min operating pressure 10 bar
Max operating pressure 70 bar
Weight 158 kg
Mounting holes** N/A

509
=)
n
@
[=1
o
=] i
~
™ =
71 i
1
1T
] g | rs——|
| &5 |
el I 5 w! = s
£l = < 5! 5 | ¥lo o
g8 S e BN EE
2 ' / 3|
3 / ol & N
(@) “ ~Hydraulic open G3/8"
o ™
o) . [*Hydraulic close G3/8"
| T ~,
| o Check Valve
1| = i
3]
n
g ' :
Si =
-
o
T = 7
. | . | IEXE)
T |
<
MESR IR Q [ =
P T IF ol |
| 6/©©
1 0 |,
This drawing shows swing away upper arm, and dimensions of configuration U, L and B.
N 669 &
= £ 465 B 204 |
G 178 - 210 _
o
[=%
T © 1
- /'j ~
o 5 <
bk e R © T
P /| \ A
I
O 2] Check Valve
) [ i
n o i g
£ = [r] i = o
g3 I e 70 223
— > T g ~ z
o
S i o 1
® =
1 o
1 5 e @ . ST
[ | O = @23 a7 = \
i
= . 4%
n 5 bl 1 1
g R215 -1 62 140 | 102 |
=
=
o Inductive sensor slots M12x1 (2x)
Hydraulic open G3/8"
Hydraulic close G3/8", ", 155
1
I Y62 | 5 - | |
1 = { ey
! b @
EEER INE s it
[ 1 ©
1 lc ol ¥

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.
Check drawings.



I STANDARD AX SERIES

Built-in pressure amplifier
Gripping range

Total max gripping force
Max peripheral roller spee
Centering accuracy*
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes

85-360 mm
5500 daN
765 m/min
0,06 mm
0,005 mm
20 bar

70 bar

143 kg
N/A

Gripping range

Total max gripping force
Max peripheral roller spee
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes

85-360 mm
5500 daN
765 m/min
0,06 mm
0,005 mm
10 bar

70 bar

156 kg
N/A

This drawing shows swing away upper arm, and dimensions of configuration U, L and B

*At constant pressure and clamping force, 20 bar.
** Note: Same hole patter, can interfere on the bracket.

Check drawings.

- 537 &
i 493 .44
L 2085 i 210
.',_\\
WA
=] i
[ >
¥
¥
iE“
1] 1
e 1
| Hydraulic open G3/8"
Hydraulic close G3/8”
1 |
| 1 — Check valve
o S
5 o
il R235
5: =
o
o
J =
_ @72 . B
i I' o . L3
2 B8 = | P]
) € o B * el |
=@e o
! 8 \—
J
This drawing shows swing away upper arm, and dimensions of configuration U, L and B.
= =X 697 _
=5
" 204 nl]
@
k=5
o
2
o0
] I
I
} [l
I
Check valve
) i
n
£
=
ol =8 288
™ =
uwy
s 1
1
| |
| B
= 1
= -
" ‘Inductive sensor slots M12x1 (2x)
g
[=%
=
o
o
Hydraulic open G3/8"
oTE Hydraulic close G3/8" 16,5
1
I (= 3 !
, [ : I e
1 0 I It
‘g % g "t ‘ 1 I ‘ ¢ I 3 ?
i 0 (©) R
1 | =~
1 |’ w@' = )




This drawing shows swing away upper arm, and dimensions of configuration U, L and B

STANDARD AX SERIES

Built-in pressure amplifier
Gripping range

Total max gripping force
Max peripheral roller speed
Centering accuracy*
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes

100-430 mm
6800 daN
685 m/min
0,06 mm
0,01 mm

20 bar

60 bar

195 kg

N/A

i 622 =
|3 578 2y
=)
i L. 280 o 220
&
a
al
2
R
o
I
1
i
Check valve
Hydraulic open G3/8"
=l
n
£ o
[=] -
(:EI -
o
a Hydraulic close G3/8"
|
-
n
3
=
o™
_ @80
T | I T E B
] I 1 1 16 &
! o) =
2 5 & ] | 2 IFRE:
| L | . it 40 O
1 L | wil—]
This drawing shows swing away upper arm, and dimensions of configuration U, L and B
3 231 d
@
(=1
o
2
r~ [}
o
|
T T
T
i
Check valve
" ' 8
=]
Sl ol - = £
ol & =
R Ei
8 ({8 " i
7] ! B
R
AY!
i =l 128 (4x) E
1 | 1
= i
-
n I ' k
5 |42 &
E Inductive sensor slots M12x1 (2x)
<
~
Hydraulic open G3/8"
080 Hydraulic close G3/8"
i I T 5] T T '
: - I i ]
| I -
uy | L
s’ U o H i
1 ® Ll sk
| 1 =]

Gripping range

Total max gripping force
Max peripheral roller speed
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes

100-430 mm
6800 daN
685 m/min
0,06 mm
0,01 mm

10 bar

60 bar

234 kg

N/A

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.

Check drawings.



I STANDARD AX SERIES

Built-in pressure amplifier

Gripping range 140-470 mm
Total max gripping force 6800 daN
Max peripheral roller speed 685 m/min
Centering accuracy™ 0,06 mm
Repeatability 0,01 mm
Min operating pressure 20 bar
Max operating pressure 60 bar
Weight 234kg
Mounting holes Adapter plate
needed

Gripping range 140-470 mm
Total max gripping force 6800 daN
Max peripheral roller speed 685 m/min
Centering accuracy™ 0,06 mm
Repeatability 0,01 mm
Min operating pressure 10 bar
Max operating pressure 60 bar
Weight 234kg
Mounting holes Adapter plate
needed

This drawing shows swing away upper arm, and dimensions of configuration U, L and B

*At constant pressure and clamping force, 20 bar.
** Note: Same hole patter, can interfere on the bracket.
Check drawings.

5 N 647 .
4 803
] E - - -
:.)i \ —_— ._q_h:iﬂn..l Tt 220 _
] O \ ; | - ;
= —, ) 8 a
i | \\
+Check valve
- I
= ! s
n o [ E
E| - = = Tl ol
2 o =1 =
@ Z = . ® 258
4 ' =
1
i —= f ; | 1
| - . ! 1
~ : = I8 !
a - & <
= R300 P |44 | 215 42182 |3
]
E
Sl Hydraulic open G3/8"
i Hydraulic close G3/8"
_ @80 _
i T 7
E | - - I Il o o
wn [| (=] | o
< ! ‘ -
|8 ’l ‘ | 8 ] 5 |z
1 b |- 1l |
I [ o [ =i 1
This drawing shows swing away upper arm, and dimensions of configuration U, L and B
=) 237
. -
g
3
o
Ll |
T §
&
n
| o
(=18~}
;E- -
B
]
1t
- !
I
b
=
o v
= Inductive sensor slots M12x1 (2x)
(]
L]

145
98

29
s
e

Il o =) |-

Hydraulic open G3/8"
Hydraulic close G3/8"




I STANDARD AX SERIES N

597 (Both = B)

This drawing shows swing away upper arm, and dimensions of configuration U, L and B

38 (Upper = U)

521

38 (Lower=L)

145

705

S/ 31
] 8 f
' 2
5 £ R 8 8
- " g8 &
i 3 E
P 1
" I
\\
S
1 L&
T
1=
= 1
R325 ¥ hoil o i
| TR - 1 SR . ; 155 | ~=||  IHydraulic open G3/8"
377.2 i m 'Hydraulic close G3/8"
L 505 A 156 |
Check valve
80 (integrated in pressure booster)
11 = ) ~— 1
— . 1T
8 Al m ° D 3
t .
-1 s

Built-in pressure amplifier

Gripping Range 100-510 mm

Total max gripping force 6800 daN

Max peripheral roller speed 685 m/min

Centering accuracy* 0,10 mm

Repeatability 0,02 mm

Min operating pressure 20 bar

Max operating pressure 60 bar

Weight 252kg

Mounting holes Adapter plate
needed

Gripping Range 100-510 mm

Total max gripping force 6800 daN

Max peripheral roller speed 685 m/min

Centering accuracy™ 0,10 mm

Repeatability 0,02 mm

Min operating pressure 10 bar

Max operating pressure 60 bar

Weight 280kg

Mounting holes Adapter plate
needed

\ y
This drawing shows swing away upper arm, and dimensions of configuration U, L and B.
= 277 i
o
o
=
8
i g I
i i
-
A Check valve,
M,
I T
al |/
n { . |
F ool o
<1 IRTIR=]
m| W)} —| @ ~
P~
: |
?
/
T
1 .'II |
=] 1
- T
" #
5
ES W,
2 2 \/
~1 > = ‘nductive sensor slots M12x1 (2x)
- L 505 o -
Hydraulic open G3/8"
a0 Hydraulic close G3/8" 155
- = a
T - s s =
T -
w0 i | e
I o £ 3
1 L
1 (1T g I H 3

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.
Check drawings.



B STANDARD AX SERIES I

This drawing shows swing away upper arm, and dimensions of configuration U, L and B
= _ 847 B
=] & 803 | 44
o B 415 312 %
3|
-
Wi
1 ]
] i
Built-in pressure amplifier
Gripping Range 250-680 mm
Total max gripping force 6800 daN i
2 I
. . n
Max peripheral roller speed 685 m/min e g g i
2 @ o 3o
Centering accuracy™ 0,10 mm il .
~ 1}
Repeatability 0,02 mm
1
Min operating pressure 20 bar
3 Hydraulic open G3/8"
Max operating pressure 60 bar I
1 1
. 3
WEIgh'[ 310 kg o = Hydraulic close G3/8"
e — 353 341 108
Mounting holes N/A s ) T
=
] Check valve
(integrated in pressure amplifier)
100 _
! [ 4 j
| L -
LR o~ T10])¢
i 0 3 i
1
V.
This drawing shows swing away upper arm, and dimensions of configuration U, L and B
3] } 1103 )
" 300 |
S
[==]
[+]
i I ]
| I
Gripping Range 250-680 mm
Total max gripping force 6800 daN o Checkvalve
. . @| | s
Max peripheral roller speed 685 m/min u (gl g E
. I} 7] olo
Centering accuracy™ 0,10 mm 3 & b 1
s ]
Repeatability 0,02 mm e | 7
Min operating pressure 10 bar ¥
[==]
Max operating pressure 60 bar | S
1 ] ]
Weight 395 kg i 735 (4x)
. i 353 34 108 Inducti lot
Mounting holes N/A 5 R430 -~ - 108 | . mq@mwﬁ Ejensor slots
2
o
Hydraulic open G3/8"
5100 Hydraulic close G3/8"
] i T I _ [ 0 ] = T9
2 ] 0]
i 2 |
| | e ] s 1
*At constant pressure and clamping force, 20 bar.
** Note: Same hole patter, can interfere on the bracket.

Check drawings.



I STANDARD AX SERIES N

This drawing shows swing away upper arm, and dimensions of configuration U, L and B

Built in pressure amplifier
Gripping range

Total max gripping force
Max peripheral rollerspeed
Centering accuracy*
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes

450-870 mm
9200 daN
457 m/min
0.20 mm
0.02 mm

20 bar

60 bar
1337kg
N/A

= 1244 =
) i 1200 _ 44
5 - 640 . DD . 4G
a
f=x -
2 v
e i /
| (S (=) [#] Y |
m, NI '__(o XX i
I 3 \
£ - / Air barrier G1/8"
[ N O\. pAM
| N Coolant in G1/4
A 2 | q
i \O b:' Hydraulic open G3/8"
@ O © i
n = - i
£ m =~ ] ol o Bl 8
8812 = i 18558
P A s i
= o o } | Hydraulic close G3/8"
1 (o J Df_
|'/ P 7 il Air barrier G1/8"
| X/
' t -. 5 Q
: \ 35 (Bx)
1 ! A \ (6x) Jf E
2 (T 17 i Y 1
= \ e & "oYA 1 !
" I
5 o 1132
g 480 ks 585 1135 Central lubrication G1/8"
|
o
(]
_ H160
i | | i
e ool it @
2 b ™~ o
el
1 | 1
\ y
This drawing shows swing away upper arm, and dimensions of configuration U, L and B
= 1578 &
= " 1200 . ars b
I ™ 640 _— 400 130
Zﬂ:. - Coolant in G1/4"
2] i
w0 | /0 o ] I
L b i : e \\ i
I /
1 i y ) C\ Air barrier G1/8"
Y
N
% | *
I \ [/ Check Valve
& O HE o) )
i o © — B e
£ ©) g % ] = [ [ o9
88 8% ¢ g2 s
o ! L L
3 /0 © gt t
- / \ all 5
1 (e
7 ™
g - ) 1
i
! |.‘ S 0/"a | Air barrier G1/8"
iy ! P A 35 (6x) Al
- faes 71 » / ™ f
£ ) -~ N\O (TR 1 1
. ) ! 32
f‘cs;' 480 L ‘-‘-"‘ 585 | 138 Inductive sensor slots M12x1 (2x)
-l
0 Central lubrication G1/8"
Hydraulic open G3/8"
0169 Hydraulic close G3/8"
i ] p i
) ool r r~
She fle: g @
1 ) | 1

Gripping range

Total max gripping force
Max peripheral rollerspeed
Centering accuracy™
Repeatability

Min pressure

Max operating pressure
Weight

Mounting holes

450-870 mm
9200 daN
457 m/min
0.20 mm
0.02 mm

10 bar

60 bar

1421 kg
N/A

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.
Check drawings.






=)

| 24 (Upper

434

This drawing shows swing away upper arm, and dimensions of configuration U, L and B.
1Y

146

403

240

STANDARD S SERIES N

Built-in pressure amplifier
Gripping range

Total max gripping force
Max peripheral roller speed
Centering accuracy®
Repeateability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

30-255 mm
4500 daN

890 m/min
0,04 mm
0,005 mm

20 bar

70 bar

83kg

Same as SLU-4

©
g 0 f
s @
G £ o ‘
w0 w| e
R % | 238
o -
; ol P
@ L1l -
1
= 1. 8
i |
g 1l 1
3 Il
= | 13 | | =l THydraulic open G3/8"
b [Rydraulic close G3/g"
ICheck valve
I 52 I
& L 1l ° —_| o
T " @@ g
2] o (@] -
o T ® - -
. Ll O
This drawing shows swing away upper arm, and dimensions of configuration U, L and B.
) 563
=) 403
]
5 & 146 o 240 -
o
=
=1 C ©
A =
|
—
[® Check valve,
) &
I f % gt |
Sl w0 ] \lo| vl o
g8« iR @ e
w| 7]\ = :
3] ﬁ ® | )
o .'
/
1 ‘Inductive sensor slots Mj2x1 (2x)
-
~ Srw—cE
g s i
3 116 113 | &
=
o~

Hydraulic open 634'8"\

Hydraulic close G3/8"

110

i

| @@

16

109

35

35 _[351

Gripping range

Total max gripping force
Max peripheral roller speed
Centering accuracy™
Repeateability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

30-255 mm
4500 daN

890 m/min
0,04 mm
0,005 mm

10 bar

70 bar

% kg

Same as SLU-4

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.

Check drawings.



I STANDARD S SERIES

20

Built-in pressure amplifier
Gripping range

Total max gripping force
Max peripheral roller speed
Centering accuracy*
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

45-320 mm
5500 daN

655 m/min
0,06 mm
0,005 mm

20 bar

70 bar

149kg

Same as SLU-5

Gripping range

Total max gripping force
Max peripheral roller speed
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

45-320 mm
5500 daN

655 m/min
0,06 mm
0,005 mm

10 bar

70 bar

165 kg

Same as SLU-5

This drawing shows swing away upper arm, and dimensions of configuration U, L and B.
N,

508

*At constant pressure and clamping force, 20 bar.
** Note: Same hole patter, can interfere on the bracket.

Check drawings.

5 465 _ 44
n
. —
B |
2 [@) w T
b
= =
| ©
o
o |
& @
1 (=]
E| £ = |=xlelo
g 3 ? O 1 g8
@ : ]
.
¢ ; e \\
e ~N~ - i
5 \\\ Hydraulic open G3/8
| @O \ i Hydraulic close G3/8"
1} \ \Check Valve
3 S -
o / %' |
5 :
- 105
=l
P~
o™~
T ) 1
62 Ll . o0
Jl b | 1 il
d gjm Q D 3
i -] 1 -
l I Xe)
! ] 1
This drawing shows swing away upper arm, and dimensions of configuration U, L and B.
= Y A 669
i = 465 . 204
) E=E == 270 -
=} . ]
2
P~
o™
e T
2
7
4 Check Valve,
@ ' T
n !
g8 B
m| 2 ™|, T == %
— o
a7
& !
=
I
g \ 1
- A
n X 1
g YInductive sensor slots M12x1 (2x)
=
o]
o~

145
68
29

Hydraulic open G3/8",
Hydraulic close G3/8"

s}

s

I |




I STANDARD S SERIES IR

Built-in pressure amplifier
Gripping range

Total max gripping force
Max peripheral roller spee
Centering accuracy*
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

85-360 mm
5500 daN

765 m/min

0,06 mm

0,005 mm

20 bar

70 bar

150 kg

Same as SLU-5.1

This drawing shows swing away upper arm, and dimensions of configuration U, L and B.
S ‘ oy 537 s
=] A\ 493 44
" Hydraulic open G3/8"
g_ |
(=3
=)
o
Latd
T
f -
e
.r/,
/ i
& 3
ul |l 2
£ir~|o|| ] "y o o
8 5|3 B e 9 8
@ I\ é a
uw
< T i
h v j 1
| H 1
ARl
e ||
! of| |
o
1 © ol
3 | el |
1} { RN |
g 145 | 100 | | 'Hydraulic close G3/8"
3 'Check valve
o
Ll
T I
o ha. I " o0
1 1L G = -
Bl
T8’ | Q s
T ol e )
| @e |
1 Li 1
\
This drawing shows swing away upper arm, and dimensions of configuration U, L and B.
= = 697 %
i 493 204 ki
5
f=1}
j=3
2|
(==}
ol 1
T4
Sermm— T
3
Check valve,
= W8 . T
m 4
IR P ‘ ° =\ 2 q
Ein~l@ o | V85 rE=IE=]
g58 & ) —dam\g) e 888
3 i f N, Je / ;
- 1
T i
1!
=5t !
n o,
cg’ ‘Inductive sensor slots M12x1 (2x)
S|
oo
oy
Hydraulic open G3/8",
L @7 . Hydraulic close G3/8", 16
| B s ol
] - &
= | 7 15|
!l ol d i G ° i
Y 88 * * 1

Gripping range

Total max gripping force
Max peripheral roller spee
Centering accuracy™
Repeatability

Min operating pressure
Max operating pressure
Weight

Mounting holes**

85-360 mm
5500 daN

765 m/min

0,06 mm

0,005 mm

10 bar

70 bar

163 kg

Same as SLU-5.1

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.

Check drawings.

21



22

STANDARD N SERIES

Gripping range 6-70 mm
Total max gripping force 190 daN

Max peripheral roller speed 730 m/min
Centering accuracy™ 0,02 mm
Repeatability 0,005 mm
Min operating pressure 10 bar

Max operating pressure 15 bar
Weight 8kg
Mounting holes** Same as SLU-1

Gripping range 8-105mm
Total max gripping force 590 daN

Max peripheral rollerspeed 930 m/min
Centering accuracy™ 0.02 mm
Repeatability 0.005 mm

Min operating pressure 10 bar

Max operating pressure 30 bar

Weight 17 kg
Mounting holes** Same as SLU-2

This drawing shows swing away upper arm, and dimensions of configuration U, L and B.

*At constant pressure and clamping force, 20 bar.
** Note: Same hole patter, can interfere on the bracket.
Check drawings.

114 (Both = B)

78 |
=)
fl i
@
a
j=5
=] I .
= ]
uy
] —1 ]
I3 ﬂ
)
n
£ (=]
8RS - e
uw
w
.
1 1 N 1
P | Check valve
=l I 1
n
5}
g 1
=
uy
Hydraulic open G1/4",
Hydraulic close G1/4" \
Inductive sensor slots M8x1 (2x),._ \
i S B — v - '_ —
2 () ©)
h24
1 =i [ RS
Ly ® ® ® Q@
o 2 2| I \
= o ©
i | [1000 (@)
o
Coolant water in G1/8" (2x)./
y
This drawing shows swing away upper arm, and dimensions of configuration U, L and B.
' 301
I 200 T 101 |
= L 70 o 85 »
a ' T
@
(=1
=1 I
o

110

2(Lower=1L) |

LW
‘“Inductive sensor slots M12x1 (2x)

106
170
215

I
‘Check|valve
1

(T
o [[[ L e o]

Hydraulic open Gam—
Hydraulic close G3/8" .~




I  STANDARD N SERIES IR

Gripping range 12-125mm
Total max gripping force 590 daN
Max peripheral rollerspeed 930 m/min
Centering accuracy™ 0.04 mm
Repeatability 0.005m
Min operating pressure 10 bar
Max operating pressure 30 bar
Weight 23kg
Mounting holes** N/A

Gripping range 12-160 mm
Total max gripping force 1500 daN

Max peripheral rollerspeed 805 m/min
Centering accuracy™ 0.04 mm
Repeatability 0.005 mm

Min operating pressure 10 bar

Max operating pressure 30 bar

Weight 45kg
Mounting holes** Same as SLU-3

This drawing shows swing away upper arm, and dimensions of configuration U, L and B.
o 344 =
E 23 5 113 &
I £ 102 E
>
" i
3
o
=} i
2
|
A | Check valve
<A
@
[}
£l ol ol v
o ™~
g & 2[8| &
=
=
1
!
1 i T
|
" \ 8
B '\ 1
H
(=]
= s 1
4] 3\
Inductive sensor slots M12x1 (2x)
Hydraulic open G3/8",
_ ®35 Hydraulic close G3/8", %, 153
f { ® f'
Ly '- !
(=10 =] 1 ® N
Re el | \2
|
o @ 2
A I
\
This drawing shows swing awayupper arm, and dimensions of configuration U, L and B.
= 428 -
i 290 o 138 B
= . 416 ... 135 -
3
n
& T
{=1]
o
=] T
=3
=]
S Check valve,
>
)
n
582 glgle
E‘_ = — O™
@©
w0
1
p !
]‘ — “Inductive sensor slots M12x1 (2x)
= \ 4 i ] (o] 1
@ o /
2 R116 -~ | ® oC) i i
b | 1
= 32 45
L 119 2l 126 il
Hydraulic open G3/8", ‘2
Hydraulic close G3/8", 158~
T | AWy T
D47 e (0 ) — \
gt e O
oo O @ o
[=3] ‘_'. v—‘ Q =3 O w
]
1 | 14
w
=t
o™~

*At constant pressure and clamping force, 20 bar.
** Note: Same hole pattern, can interfere on the bracket.
Check drawings.

23



o )

For more information about Tailor Made solutions, please
2 contact Atlings on e-mail adress: steadyrest@atling.se



Diamond pads narrow arms ‘ 2




un
-

3 "Fﬂwre Pa




.
Wiper
Wiper to remove dirt and chips from workpiece.

Standard work piece wiper seals. Resilient work piece wiper seal.

Atling SteadyRest can = b Resilient work piece follow
also be equipped with a the work piece diameter
standard wiper seal. The and do not need to be
wiper seals have the same adjusted. Note that the
diameter and is fitted on minimum diameter can be
the arm. _ increased when using this
Manual adjustable. seal.

Find the right part number.

UCEI  Ax1 | Ax2 | Ax3 | Ax4 | Axs | Ax6 | Ax7 | axs | Axas5| Axa7| Axa | Axo | Axm
Standard | As1001 A51002 A51002 A51004 A51005 A51005 A51007 A51008 A51009 A51009 A51009 A51010 A51011

Resilient A50002 A50002 A50004 A50005 A50005 A50007 A50008 A50009 A50009 A50009 A50010 A50011
Atling Steady Rest roller
Cylindrical Roller Cambered Roller

Used to hold the work
piece. This type of rol-
ler have nearly a plain
surface, and therefore
this is standard when
the Steady Rest is fixed
during the processing.

Used for traveling Steady Rest
with the work piece. This type
of roller have a convex sur-
face, and is usually used when
the Steady Rest is moving
along the work piece during
the process.

Model

Cylindrical A5055044 | A5055040 | A5055040 | A5055014 | A5055026 | A5055026 | A5055005 | A5055008 | A5055017 | A5055017 | A5055017 | A5551310 | A5551311

Cambered | A5055050 | A5551203 | A5551203 | A5551204 | A5551205 | A5551205 | A5551207 | A5551208 [ A5551209 | A5551209 | A5551209 | A5551210 | A5551211

Swing Away

Swing Away option if you need the arms to open an extra amount when changeing the work piece. The
Swing Away can be applied to either the upper, the lower, or both arms. What ever you choose, the size for
the Steady Rest will have the same gripping range.

Track Plate Track Plate Swing

o~

Find the right part number.

XS Ax1 | Ax2 | Ax3 | Ax4 | Ax5 | Axase | axsas7| ax/ass| axas | Axg7 | Axe | Axio | axm
Standard | A43007 A42932 A42973 A42981 A42946 A42875 A42895 A42989 A43160 A30941 A42899 A43227 A43241

SWing Away A43006 A42933 A42972 A42982 A42947 A42874 A42896 A42988 A43161 A30942 A42898 A43228 A43242

27




28

Seal Kit Cylinder

Seal Kit Cylinder for AXI- and ASI-models Seal Kit Cylinder for AXE- and ASE-models

Model g5 | 87 | 9 | w | m
AXI/ASI A5550412 | A5550512 | A5550612 | A5550712 | A5550812 | A5550912 | A5550912 | A5550912 | A5551012 | A5551112

AXE/ASE | A5550102 | A5550202 | A5550302 | A5550402 | A5550502 [ A5550602 | A5550702 | A5550802 | A5550902 | A5550902 | A550902 | A5551002 | A5551102

Mini Booster Kit/Mini Booster

Seal Kit for Mini Booster Mini Booster

Find the right part number.

Mini Booster A5235034 A5235034 A5235034 A5235034 A5235034 | A5235034 A5235034 A5235034 | A5235034 A5235034
SMeI?III Iélgof?tI;r A5550506 A5550506 A5550606 A5550606 A5550606 A5550606 A5550606 A5550606 A5550606 A5550606

Seal Kit House

Model
AX|/AS| A5550401 | A5550501 | A5550601 | A5550701 | A5550801 A5550901 A5550901 | A5550901 | A5551001 | A5551101

AXE/ASE | A5550101 | A5550201 | A5550301 | A5550401 | A5550501 [ A5550601 | A5550701 | A5550801 [ A5550901 | A5550901 | A5550901 | A5551001 | A5551101




Shafts Kit

Find the right part number.

Model 7| 8 | 85| 87| 9 | w | n
AXI/ASI A5550405 | A5550505 | A5550605 | A5550705 | A5550805 | A5550905 | A5550905 | A5550905 | A5551005 | A5551105

AXE/ASE | A5550105 A5550205 | A5550305 | A5550405 | A5550505 | A5550605 | A5550705 | A5550805 | A5550905 | A5550905 | A5550905 | A5551005 | A5551105

Rollers Kit

Find the right part number.

Model | a5 | 87 | 9 | © | n
AXI/ASI A5550404 | A5550504 | A5550604 | A5550704 | A5550804 | A5550904 | A5550904 | A5550904 | A5551004 | A5551104

AXE/ASE | A5550104 A5550204 | A5550304 | A5550404 | A5550504 | A5550604 | A5550704 | A5550804 | A5550904 | A5550904 | A5550904 | A5551004 | A5551104

Standard work piece wiper seals.

Model g8 | a5 | 87| 9 | ©w | n
AXI/ASI A5550403 | A5550503 | A5550603 | A5550703 | A5550803 | A5550903 | A5550903 | A5550903 | A5551003 | A5551103

AXE/ASE | A5550103 | A5550203 | A5550303 | A5550403 | A5550503 | A5550603 | A5550703 | A5550803 | A5550903 | A5550903 [ A5550903 | A5551003 | A5551103

29






Bracket

Atling can offer you a bracket. It

will be unique for each particular
machine.

Adapter plate

Atling can offer you an adapter

plate. The adapter plate differs i
depending on the bracket. Li
;‘
‘
@

Eccentric Fine Adjustment Kit

Eccentric roller pins on the arms
allowed a quick fine adjustment of
the center line.

In line filter

Minimize the risk of foreign particles
in the hydraulic system that could
damage the booster, and provide
steady rest longer lifetime.

Part Number: A5065306







Mini Booster Tool

Part Number: A43262

Shaft Remover

Model

AXI/ASI A43256 A43252 A43252 A43194 A43194 A43194 A43175 A43175 A43200 A43200 A43200

Multi-X Couplings

Multi-X Couplings, the quick way to connect hydraulic, cooling and automatic lubrication in the same time.
And even possible to have the electrical connections for example sensors in the same coupling.

Art.No: A5065308 Art.No: A5065308 + A5065311 Art.No: A5065309 Art.No: A5065309 + A5065310

33




34



U e IS T
b O TWIETR TR
e naaaal
o EEENENE




N3J3MS 'SNOSBNINNIH :NOILONAOHd | "ZLOZ AINM LA BN3 3HNHI0HE TVJINHIIL SONINLY

Q
I
=

___F | A

Atlings Maskinfabrik AB
P.0. Box 21, SE 816 25 Ockelbo, Sweden
Tel: +46 297 557 00 Fax: +46 297 416 00
www.steadyrest.se




